BEET (R EFTHI B RIED)
NHETKEFXIZHOEKERSRISE

gl LETKES L/KER



PP ¢ 50, 20, 13 &% (KAR)

g B K O 5K

4 R Hirk & | wi
[&h1]
He
R ZF L ¢ 50 64.3 + 1.3 65.6 m
fazk2
Rz FL o 5E $ 20 1.0 1 m
fazk1
RYTFL A4 ¢ 13 17.0 17.0 m
PPF—X ¢ 50X ¢ 50 1 1 I
PPY%r/h 650 1 L A
HE
PP /LR ¢ 50 1+ 2 3 L[E]
fazk2
PPTLAR $20 1 1 1A
fazk2
PVILAR $20 1 1 &
fazk1
PVYroh ¢ 13 5 5 {(E]
T KLk AR 7 & 50 1 1 I
HE
FCD#A-5] 5 $ 50 1 1 I
[ H=900
Lo E JWWA B 132 1 % 1 1 4
FiEIS
Lo E PR25 (K) 2 X 1 2 eS|
i
Lo E RA25(A) 1 x 1 1 eS|
TRRE
o RC25(C) 1 x 1 1 &
AR
o RS25(S) 1 % 1 1 1A
SUS=T f+f Heve
MFYaA b ¢ 50 1+ 2 3 i
fazk2
PPE YRR ¢ 50X ¢20 1 1 "
fazk1
PP RS /KER | ¢ 50X ¢ 13 5 5 1
~—A—kt 7 7 i
TIVH L 50 HEi ¢ 50 $20 613
RV —R P 643 + 03 + 1.0 + 17.0 82.6 m
[5%]
RVES L i a $ 50 65.6 65.6 m
RV FLEARR T ¢ 20 1.0 1.0 m
RV FLEARR T ¢ 13 17.0 17.0 m
F—=x Yk TR PRV
PPHET T ¢ 50 3+ 2 + 6 o+ 11 m]
F—=x LN TR PR
PPk T T ¢ 20 + + 4 0+ 1 5 u]
F—X Vb BN YR
PPHET T ¢ 13 + 10 + + 5 15 m]
B RLIARES T ¢ 50 1 1 |
PP H
3 AR T 50X ¢20 1 1 T
PP H
Sy KRR EAS T $50X ¢ 13 5 5 Pt
ERE ST
fEY) PR iE T $ 50 1 1 T
FEOFp E 2 Tk L H=900 1 1 [0
MFYaAh
AN=IVIEE T ¢ 50 3 3 |
MFYaA vk
I UMET. | 6650 3 3 | H
TIUHEFRAL T 65T 1 1 H
IR —RL 82.6 82.6 m




I TR +THKESEE

+TLxA7

4 R V2 NI B - = = I O BRtECE | AL BREHE
EEEDIWT T As, t=15ecmPA T 130.0 2.0 34.0 2.0 168.0 [ m 170
SEEERBUE T | As, t=10emPA T 39.0 0.60 10.2 0.60 50.4 [ m® 50
P T Btk wWE L 39.8 0.44 7.5 0.69 48.4 | m® 50
HHREL T RC-40 16.0 0.096 1.6 0.31 18.0 | m® 20
HHREL T w 17.8 0.26 4.3 0.29 22.7| m* 20
s Uy WE 1+ 39.8 0.44 7.5 0.69 48.4 | m® 50
B T 39.8 0.44 7.5 0.69 48.4 | m’ 50
FRILALER As 1.6 0.024 0.41 0.024 2.1 | m* 2
PRI As 1.6 0.024 0.41 0.024 2.1 | m® 2
15 Y - 4055 T 0.12 | 0.00184 0.031 | 0.0018 0.15 | m® 0.2
AR T RC-40, t=16cm 39.0 0.60 10.2 0.60 50.4 [ m® 50
RIEIR T BRI EAs13) t=3cm 39.0 0.60 10.2 0.60 50.4 [ m® 50




+THa47° 1-1 HiE As PP ¢ 50 DP=0.90m
+ TR L= 64.5 +0.5 = 65.0 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
- )
S N v 8
| BAET -
i RC-40 ]
|
i
| W_[FEliE]_0.600
a | DI |4 0.060
=l £ e BRI ERA - pp | v [ 0.900
i RC-40 < H1 [ HiRFIZE] 1.060
| H2 | #EEIE[ 1.020
IS BR hl [HE#[ 0.410
=t h | # & 0.460
| o
\ 8
@
| 5] =
! 8
; —
@
( 65.0 m Y7=V#KE)
pa PR ViR NI 7 =1 = B B &
AR T As, t=15cmPd T 2.00 X 65.0 m 130.0
IR R T As, t=10cmPL T 0.60 X 65.0 m? 39.0
I OE T ik g 0.60 X 1.020 X 65.0 m’ 39.8
HHERELT RC-40 0.60 X 0.410 X 65.0 m’ 16.0
HHRL L ilas I
D EL T b ( 060 X 0.460 — 0.060 > X x,4)X 65.0 m’ 17.8
R AR
7Ly e+ 39.80 — +~ 0.9 m’ 39.8
FEALER As 0.60 X 0.04 X 65.0 m’ 1.6
By B As m’ 1.6
V5 UEE - L5y T 0.023 X 0.04 X 130.0 m’ 0.12
AR T RC-40, t=16cm 0.60 X 65.0 m’ 39.0
FA R As(13)
RE IR L t=3cm 0.60 X 65.0 m’ 39.0




+THa47° 1-3 ME As PP ¢ 20 DP=0.65m
+ TIER L= 1.0 = 1.0 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
_BRE%As t=4om JEH |
S N v 8
| BRAET -
i RC-40 ]
|
i
| W_[FEliE]_0.600
a | DI |4 0.027
= g ° BRI ERA _ pp | v | 0.650
i RC-40 = HI[#EEIZE 0777
i H2 | #EEIE| 0.737
1B hl [#E#]| 0.160
=t h | # & 0427
| o
i a
@
| 5] =
1 of
i =
F\
)

( 1.0 m %7-v#E)
pa PR ViR NI 7 H = B B &
EZELIT T As, t=15cmPL T 2.00 X 1.0 m 2.0
IR R T As, t=10cmPL T 0.60 X 1.0 m? 0.60
W oEl T M wE L+ 0.60 X 0.737 X 1.0 m’ 0.44
HH LT RC-40 0.60 X 0.160 X 1.0 m®|  0.096
HOHRL T NNz
HORELT b ( 060 X 0.427 — 0027 > X x,/4)x 1.0 m’ 0.26

R AR
7y e+ 0.44 — =~ 0.9 m’ 0.44
PRSP As 0.60 X 0.04 X 1.0 m’| 0.024
LY As m®|  0.024
V5 UEE - L5y T 0.023 X 0.04 X 2.0 m® | 0.00184
A T RC-40, t=16cm 0.60 X 1.0 m’ 0.60
FA R As(13)
RE IR L t=3cm 0.60 X 1.0 m’ 0.60




+TAh47° 1-4 HiE As PP ¢ 13 DP=0.65m
T TIERE L= 17.0 = 17.0 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
- >
< N % 3
| BRAET -
i RC-40 o
|
i
| W_[FEliE]_0.600
a | DI %48 0.022
= g ° BRI ERA _ pp | v | 0.650
i RC-40 < H1[HiHIZE] 0.772
i H2 | #EEIE| 0.732
1B hl [#E#]| 0.160
=t h | # & 0.422
| o
\ 3
w
| 5] =
1 of
i =
!
\L
( 17.0 m H47-0%&E)
pa PR ViR NI 7 =1 = B B &
EZELIT T As, t=15cmPL T 2.00 X 17.0 m 34.0
IR R T As, t=10cmPL T 0.60 X 17.0 m? 10.2
i oHl T Bk g+ 0.60 X 0.732 X 17.0 m° 7.5
HHERELT RC-40 0.60 X 0.160 X 17.0 m’ 1.6
HHERELT i+
HOREL L b ( 060 X 0.422 — 0022 %> X x,/4)X 17.0 m’ 4.3
AR TR
s d%a g+ 750 — = 0.9 m’ 7.5
PRSP As 0.60 X 0.04 X 17.0 m’ 0.41
Ry As m’ 0.41
V5 UEE - L5y T 0.023 X 0.04 X 34.0 m’ 0.031
AR T RC-40, t=16cm 0.60 X 17.0 m’ 10.2
FA R As(13)
RE IR L t=3cm 0.60 X 17.0 m’ 10.2




+ T % & %
+TAh47° e HiiE As VP ¢ 50,HPPE ¢ 75 DP=1.00m
+ TR = 1.0 = 1.0 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
_BE&%As t=dom JEAl |
< N % 3
| opRAET
i RC-40 3
!
i
{ W [#EHIlE] 0.600
a | DI |4 0.060
= g ° BRI ERA _ pp | v | 1.000
i RC-40 = H1 [ #EEIZE] 1.190
i H2 | #EEIE| 1.150
i hl |¥#F4] 0.510
| h | # | 0.490
! S D2 |'EAME| 0.090
i L I —
= g <
y 00000 —_—Y
. 8
|
\ #D
( 1.0 m %7-v#E)
pa PR ViR NI B H = B B &
ERZE )T L As, t=15cmPL T 2.00 X 1.0 m 2.0
IR R T As, t=10cmPL T 0.60 X 1.0 m? 0.60
o T ik g ( 060 X 1.150 — 0.060 > X x,/4)x 1.0 m’ 0.69
Y RELT RC-40 0.60 X 0.510 X 1.0 m’ 0.31
HHERELT i+
HORELT b ( 060 X 0.490 — 0.090 > X x,/4)x 1.0 m’ 0.29
AR TR
Ay e+ 0.69 — =~ 0.9 m’ 0.69
PRSP As 0.60 X 0.04 X 1.0 m’| 0.024
ALy As m®|  0.024
V5 UEE - L5y T 0.023 X 0.04 X 2.0 m®| 0.0018
B T RC-40, t=16cm 0.60 X 1.0 m? 0.60
FA R As(13)
RE IR L t=3cm 0.60 X 1.0 m’ 0.60




BEET (R EFTHI B RIED)
NHETKEFXIZHOEKERSRISE

gl LETKES L/KER



PP ¢ 50, 25, 20, 13 &4 (A5%)

4 R Btk WX R U K R HA
[&#r]
Hrie
R)=F LA ¢ 50 739 + 1.3 75.2 | m
R F LA ¢ 25 18.1 18.1 m
] HaAKT
R)=F LA $20 1.0 + 23 3.3 m
fak3 Haka fake
R F LA ¢ 13 3.0 + 4.0 + 6.9 13.9 | m
PPV ok ¢ 50 2 2 &
PVREEY 7ok $25X ¢ 13 1 1 1
] HaAKT
PVY A oh $20 1+ 1 2 L&
fak3 Haka fake
PVY ok ¢ 13 3+ 1+ 3 7 &
Hrie
PP /LR ¢ 50 1+ 1 2 L&
PP LR 625 1 1 8
Heie
FCDHRUEDIF ¢ 50 1 1 3%
VT — A5 $ 50 1 1 3k
P H=900
(ERTIFi JWWA B 132 1 x 2 2 “H
FLEEINZ
{LY)p PR25 (K) 2 x 2 4 1
b EE
e RA25 (A) 1 x 2 2 &
T EE
LY RC25(C) 1 x 2 9 1
JERR
LY RS25(S) 1 x 2 9 1
SUS= 7 f+F Prve
MFYaA b ¢ 50 2 o+ 2 4 &
PP Y R4 kEE . ¢ 50X ¢ 25 1 1 &
] HaAKT
PPE YR /VorKkkE ¢ 50X ¢ 20 1+ 1 2 {8
fak3 Haka fake
PP FHY R V43K ¢ 50X ¢ 13 3 0+ 1 + 3 7 L&
~—h—Hi 13 T
TV ML 50 HEJE ¢ 50 625 620 613
BFARY—R PAZ 739 + 05 + 181 + 33 + 13.9 109.7 | m




PP ¢ 50, 25, 20, 13 5% (Ki&)

% R HkE W I R OF S R BB |
[95%]
AVE=F LU EAGR L ¢ 50 75.2 75.2 | m
ARV=FL U E AR T ¢ 25 18.1 18.1 m
RV=F LB AR T $20 3.3 3.3 m
RV=F L E AR T ¢ 13 13.9 13.9 | m
F—R Yok /LR BRI
PPk T ¢ 50 t 4+ 4 8 N
F—X Ik By %N A%
PPk T ¢ 25 + 1+ 2 1 4 A
F—X Yok /LR BRI
PPk T ¢ 20 o4+ 2 6 =
F—=R Yok TR PR
PPk T 613 + 15+ 7 22 A
PP Ji]
Sy kR s T 50X ¢ 25 1 1 &7
PP Ji]
Sy kR s T $50X ¢ 20 2 2 & T
PP Ji]
S KK EUS T $50X ¢ 13 7 7 &7
R EG T
B FpERE T ¢ 50 2 2 & T
MFYaAh
AT =TI NVARTFE T ¢ 50 4 4 m
MFYaA 2k
TR L ¢ 65LLF 4 4 A
R RS — L 109.7 109.7 | m

_10_
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2T R +I¥EEE
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4 I N B 7 I = = = BrRMECR [ BAL BREHE
EHAE O T As, t=15cmPL 149.6 36.2 6.6 27.8 220.2 | m 220
SHIERRE T | As, t=10emBL F 44.9 10.9 2.0 8.3 66.1 | m’ 66
PEH T PR 45.8 8.1 1.5 6.1 61.5 [ m’ 60
M ERL T RC-40 18.4 1.7 0.3 1.3 21.7 | m® 20
B FRL L i 20.4 4.70 0.8 3.5 29.4 | m* 30
B 4Gy WE+ 45.8 8.10 1.5 6.1 61.5 | m® 60
e T 45.8 8.10 1.5 6.1 61.5 | m® 60
FEBL AL As 1.8 0.43 0.079 0.33 2.6 | m* 3
PRI B As 1.8 0.43 0.079 0.33 2.6 | m* 3
TG VRSERE - a0y T 0.14] 0.033| 0.0061 0.026 0.21 | m® 0.2
AT RC-40, t=16cm 44.9 10.9 2.0 8.3 66.1 | m’ 66
R IH T FAEBRIEEAS(13) t=3cm 44.9 10.9 2.0 8.3 66.1 | m” 66




+THa47° 1-1 HiE As PP ¢ 50 DP=0.90m
+ TR L= 74.3 +0.5 = 74.8 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
- )
S N v 8
| BAET -
i RC-40 ]
|
i
| W_[FEliE]_0.600
a | DI |4 0.060
=l £ e BRI ERA - pp | v [ 0.900
i RC-40 < H1 [ HiRFIZE] 1.060
| H2 | #EEIE[ 1.020
IS BR hl [HE#[ 0.410
=t h | # & 0.460
| o
\ 8
@
| 5] =
! 8
; —
@
( 74.8 m Y7-0#KE:)
pa PR ViR NI 7 =1 = B B &
AR T As, t=15cmPd T 2.00 X 748 m 149.6
IR R T As, t=10cmPL T 0.60 X 74.8 m? 449
I OE T ik g 0.60 X 1.020 X 74.8 m’ 45.8
HHERELT RC-40 0.60 X 0.410 X 74.8 m’ 18.4
HHRL L ilas I
D EL T b ( 060 X 0.460 — 0.060 > X 5,4 )X 74.8 m’ 20.4
R AR
7Ly e+ 45.80 — +~ 0.9 m’ 45.8
FEALER As 0.60 X 0.04 X 748 m’ 1.8
By B As m’ 1.8
V5 UEE - L5y T 0.023 X 0.04 X 149.6 m’ 0.14
AR T RC-40, t=16cm 0.60 X 748 m’ 44.9
FA R As(13)
RE IR L t=3cm 0.60 X 748 m’ 44.9

,12,




+ T % & %
+TAh47° 1-2 ME As PP ¢ 25 DP=0.65m
T TIERE L= 18.1 = 18.1 m
< w P>
BEE%As t=4cm fEEl | BR REI8 BAEZFHiAs t=3cm
T %
< N % 3
| BRAET -
i RC-40 o
|
i
| W_[FEliE]_0.600
a | DI [#45#%| 0.034
= g ° BRI ERA _ pp | v | 0.650
i RC-40 = H1|#EEIZE] 0.784
| H2 | #EHlE| 0.744
1B hl [#E#]| 0.160
=t h | # & 0434
| o
i a
L
| 5] <
! 8
; —
\ #D
( 18.1 m H7=0¥E)
pa PR ViR NI B H = B &
EZELIT T As, t=15cmPL T 2.00 X 18.1 m 36.2
IR R T As, t=10cmPL T 0.60 X 18.1 m? 10.9
i oHl T Bk g+ 0.60 X 0.744 x 18.1 m° 8.1
HHERELT RC-40 0.60 X 0.160 X 18.1 m’ 1.7
HHERELT i+
HOREL L b ( 060 X 0.434 — 0.034 > X 5,/ 4)x 18.1 m’ 4.7
AR TR
s d%a g+ 8.10 — = 0.9 m’ 8.1
PRSP As 0.60 X 0.04 X 18.1 m’ 0.43
Ry As m’ 0.43
V5 UEE - L5y T 0.023 X 0.04 X 36.2 m’ 0.033
AR T RC-40, t=16cm 0.60 X 18.1 m’ 10.9
FA R As(13)
RE IR L t=3cm 0.60 X 18.1 m’ 10.9

,13,




+TAh47° 1-3 ME As PP ¢ 20 DP=0.65m
+ TR = 1.0 +2.3 = 3.3 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
T %
< N % 3
| BRAET -
i RC-40 o
|
i
| W_[FEliE]_0.600
a | DI |4 0.027
= g ° BRI ERA _ pp | v | 0.650
i RC-40 = HI[#EEIZE 0777
| H2 | #EEIE| 0.737
1B hl [#E#]| 0.160
=t h | # & 0427
! 8
1 ™.
w
| 5] <
! 8
; —
\ #D
( 3.3 m M7=hE)
pa PR ViR NI 7 H = B B &
EZELIT T As, t=15cmPL T 2.00 X 3.3 m 6.6
IR R T As, t=10cmPL T 0.60 X 3.3 m? 9.0
i oHl T Bk g+ 0.60 X 0.737 X 3.3 m® 1.5
HHERELT RC-40 0.60 X 0.160 X 3.3 m’ 0.32
HHERELT i+
HORELT b ( 060 X 0.427 — 0.027 > X x,/4)x 3.3 m’ 0.84
AR TR
Ay wWE+ 1.50 — = 0.9 m® 1.5
PRSP As 0.60 X 0.04 X 3.3 m’| 0.079
LY As m®| 0.079
V5 UEE - L5y T 0.023 X 0.04 X 6.6 m® | 0.0061
AR T RC-40, t=16cm 0.60 X 3.3 m’ 2.0
FA R As(13)
RE IR L t=3cm 0.60 X 3.3 m’ 2.0

,14,




+TAh47° 1-4 HiE As PP ¢ 13 DP=0.65m
+ TR L= 3.0 +4.0 +6.9 = 13.9 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
- >
< N % 3
| BRAET -
i RC-40 o
|
i
| W_[FEliE]_0.600
a | DI %48 0.022
= g ° BRI ERA _ pp | v | 0.650
i RC-40 < H1[HiHIZE] 0.772
i H2 | #EEIE| 0.732
1B hl [#E#]| 0.160
=t h | # & 0.422
! 8
1 ™.
w
| 5] <
! 8
; —
\ #D
( 13.9 m H47=0%E)
pa PR ViR NI 7 =1 = B B &
EZELIT T As, t=15cmPL T 2.00 X 13.9 m 27.8
IR R T As, t=10cmPL T 0.60 X 13.9 m? 8.3
i oHl T Bk g+ 0.60 X 0.732 X 13.9 m° 6.1
HHERELT RC-40 0.60 X 0.160 X 13.9 m’ 1.3
HHERELT i+
HOREL L b ( 060 X 0.422 — 0022 > X x,/4)X 13.9 m’ 3.5
AR TR
s d%a g+ 6.10 — = 0.9 m’ 6.1
PRSP As 0.60 X 0.04 X 13.9 m’ 0.33
Ry As m’ 0.33
V5 UEE - L5y T 0.023 X 0.04 X 27.8 m’ 0.026
AR T RC-40, t=16cm 0.60 X 13.9 m’ 8.3
FA R As(13)
RE IR L t=3cm 0.60 X 13.9 m’ 8.3

,15,




BEET (R EFTHI B RIED)
NHETKEFXIZHOEKERSRISE

gl LETKES L/KER
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PP ¢ 40, 20 B#f 5% (KRiR)

4 W JHkE M I R O S BB s
[&#4]
Heie
RYTF LA ¢ 40 127.7 + 1.0 128.7 | m
HH7k9
RYTF LA ¢ 20 2.0 2.0 m
PPY /47 b ¢ 40 4 4 ]
Heie
PP /LR ¢ 40 2 o+ 1 3 &
HH7k9
PP /LR ¢ 20 2 2 ]
PV LR ¢ 40 1 L &
HH7k9
PV /LR ¢ 20 2 2 ]
MCz=4> ¢ 40 1 1 ]
Bhlgie Peie
RSV $ 40 I+ 1 2 L&
B H=650
LI EE JWWA B 132 1 X 2 2 L
LIS
o) PR25 (K) 2 X 2 4 1A
R AE
lan BN RAC25(CA) 1 X 2 2 1A
JEEhR
lan BN RS25(S) I X 2 2 &
HH7k9
PP RV 537KAE . ¢ 40X ¢ 20 2 9 ]
~—h— 4 4 1
TILE ML 640 HEVE ¢ 40 620
EIRY—h P 127.7 + 0.5 + 2.0 130.2 | m
[95%]
RV=F L A% T ¢ 40 128.7 1287 | m
AV F LU EmMR T ¢ 20 2.0 2.0 m
F—x Vo LR PR Bht
PPl T. ¢ 40 + 8 + 8 4 + 4 20 m
F—x Vo LR PR Bht
PPikTF T ¢ 20 + + 8 + 2 4+ 10 m]
EREET
MRSV TR E T ¢ 40 2 9 3
PPAE ]
Sy KR Ut T $ 40X ¢ 20 2 2 T
BIHRY—NL 130.2 130.2 | m

_17_
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4 I N B 7 5T =) ey BrRMECR [ BAL BREHE
EhZE )M T As, t=15emBL F 256.4 4.0 2.0 262.4 | m 260
BRERBUE T | As, t=10cmLL 76.9 1.20 0.60 78.7 | m’ 79
PEH T PR 58.3 0.88 0.42 59.6 | m’ 60
M ERL T RC-40 16.9 0.26 0.10 173 | m® 20
B FRL L i 34.2 0.51 0.27 35.0 | m® 30
Py WE+ 58.3 0.88 0.42 59.6 | m® 60
ST 58.3 0.88 0.42 59.6 | m® 60
FEBL AL As 3.1 0.048 0.024 3.2 | m? 3
PRI B As 3.1 0.048 0.024 3.2 | m? 3
TG VRSERE - a0y T 0.24 | 0.0037 | 0.0018 0.25 | m® 0.2
PRAE T RC-40, t=10cm 76.9 1.20 0.60 78.7 | m’ 79
R IH T FAEBRIEEAS(13) t=3cm 76.9 1.20 0.60 78.7 | m’ 79




T X% & %

+TH47 2-1 EhEHE As PP ¢ 40 DP=0.65m
+ TR L= 127.7 +0.5 = 128.2 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
- >
< N % 3
| BAET -
i RC-40 S
|
i
| W_[FEliE]_0.600
a | DI |48 0.048
=l £ e BRI ERA - pp | v | 0.650
i RC-40 < H1[HiKIZE] 0.798
i H2 | #EHIE[ 0.758
IS BR hl [HEEA[ 0.220
=t h | # & 0.448
| o
\ 3
w
| 5] =
! 8
; —
\ #D
( 128.2 m Y7-v#KE:)
pa PR ViR NI 7 =1 = B B &
AR T As, t=15cmPd T 2.00 X 128.2 m 256.4
SRR T As, t=10ecmELF 0.60 X 128.2 m’ 76.9
I OE T ik g 0.60 X 0.758 X 128.2 m’ 58.3
Y RELT RC-40 0.60 X 0.220 X 128.2 m’ 16.9
HHERELT i+
D EL T b ( 060 X 0.448 — 0.048 > X g 4 )X 128.2 m’ 34.2
AR TR
7Ly e+ 58.30 — +~ 0.9 m’ 58.3
FROLALER As 0.60 X 0.04 X 128.2 m’ 3.1
By B As m’ 3.1
V5 UEE - L5y T 0.023 X 0.04 X 256.4 m’ 0.24
o T RC-40, t=10cm 0.60 X 128.2 m’ 76.9
FA R As(13)
RE IR L t=3cm 0.60 X 128.2 m’ 76.9

,19,




T X% & %

+TH47° 2-2 EhEHE As PP ¢ 20 DP=0.65m
+ TIER L= 2.0 = 2.0 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
_BRE%As t=4om JEH |
S "\ v 8
| BRAET -
i RC-40 S
|
i
| W_[FEliE]_0.600
a | DI |4 0.027
=l £ e BRI ERA _ pp | v | 0.650
i RC-40 = HI[#EEIZE 0777
| H2 | #EEIE| 0.737
1B hl [#E#]| 0.220
=t h | # & 0427
| o
i a
@
| 5| =
1 of
i =
F\
)

( 2.0 m M47-0iE)
pa PR ViR NI 7 H = B B &
EZELIT T As, t=15cmPL T 2.00 X 2.0 m 4.0
IR R T As, t=10cmPL T 0.60 X 2.0 m? 1.20
W oEl T M wE L+ 0.60 X 0.737 X 2.0 m’ 0.88
HH LT RC-40 0.60 X 0.220 X 2.0 m’ 0.26
D ERLIL NNz
HORELT b ( 060 X 0.427 — 0.027 > X x,/4)X 2.0 m’ 0.51

IR S ) RS
7y e+ 0.88 — =~ 0.9 m’ 0.88
PRSP As 0.60 X 0.04 X 2.0 m’| 0.048
LY As m®| 0.048
V5 UEE - L5y T 0.023 X 0.04 X 4.0 m® | 0.0037
A T RC-40, t=10cm 0.60 X 2.0 m’ 1.20
FA R As(13)
RE IR L t=3cm 0.60 X 2.0 m’ 1.20
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T X% & %

+TH47° =2 EhEHE As VP ¢ 40 DP=0.60m
+ TIER = 1.0 = 1.0 m
< w P>
BEE%As t=4cm fEEl | BR RIEIR BEEHAs t=3cm
T %
< N v 3
| maT -
i RC-40 S
|
i
5 W [E] 0.600
a | DI |48 0.048
=l £ e BRI ERA _ pp | v [ 0.600
i RC-40 < H1[HipIZE] 0.748
i H2 | #EHIE[ 0.708
1B hl [#E#]| 0.170
=t h | # | 0.448
| o
i a
' )
() a| -
1 of
i =
F\
éD
( 1.0 m %7-v#E)
pa PR ViR NI 7 H = B B &
EZELIT T As, t=15cmPL T 2.00 X 1.0 m 2.0
IR R T As, t=10cmPL T 0.60 X 1.0 m? 0.60
o T ik g ( 060 X 0.708 — 0048 > X x,/4)x 1.0 m’ 0.42
HHERELT RC-40 0.60 X 0.170 X 1.0 m’ 0.10
HHERELT ilas I
HORELT b ( 060 X 0.448 — 0.048 > X =x,/4)x 1.0 m’ 0.27
R AR
7y e+ 0.42 — =~ 0.9 m’ 0.42
PRSP As 0.60 X 0.04 X 1.0 m’| 0.024
LY As m®|  0.024
V5 UEE - L5y T 0.023 X 0.04 X 2.0 m®| 0.0018
A T RC-40, t=10cm 0.60 X 1.0 m’ 0.60
FA R As(13)
RE IR L t=3cm 0.60 X 1.0 m’ 0.60
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